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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a level of mental retardation? / ﬁ'ﬂﬁ'@a ﬁ ﬁ ﬂﬁ"_{ m Tl'i;"aT DT &Y :l'a%"
1. Profound / ¥

2. Severe / THR

3. Savant / fagM

4. Mild / =g

Correct Answer :-

o Savant/ a§:|

2) Which of the following is least true about the process of growth? / ﬁ'ﬂﬁf@a #q -9 q@ @1 ufspar & aR # 99 FH A %?
1. It represents change in a person’s quantifiable characteristics. / g wfed o AETdS faRvarst & uRads &) uelRia s %I
2. It is necessary for aspects of development. / Jg o & U?«‘ﬁ * ﬁ'l'q HAGh %I

3. It can only be assessed. / SHU®DI Had THT [T oI Jobd] %I
4. It is not a continuous process. /WWWW :Ié)f%I

Correct Answer :-

« It can only be assessed. / SH®DI HId 3MHa T ST bl %I

3) CANCELLED

The system of society wherein primary power, moral authority, social privilege and control of property are dominated by males is known as [/ HHS

1. Masculinity / Y¥%cd
2. Patrilineal /fﬁ?ﬁ?ﬁq
3. Patriarchy/ﬁ?ﬁ?ﬂ
4. Matriarchy / HIqd T

Correct Answer :-

« Patriarchy / T

4) vocational guidance primarily helps students to: / TGS mh 81 4 A oE o T | HGG PIdl %:
1. Choose a life partner/ U Stag et & aa |

2. Choose an occupation/ U TR FTgTH

3. Solve a personal problem/ Udh AT T & JETeE o

4. Select subjects/ fawgl w1 T B A

Correct Answer :-

« Choose an occupation/ Tdh T HTEH

5) When twins are born from separate zygotes, they are called: / STd \_FJ,GHT T S-S T’Fﬁ (ﬂvmﬁaﬂ) k| aﬂT Eﬁ% ?, ar 3% ‘Dol SITdl %z
1. Identical twins / Gﬂé@ﬁaﬂfﬁ?‘:{

2. Siblings /ﬁﬁﬂ%‘i‘ﬂ

3. Spouses / W3

4. Fraternal twins /mm



Correct Answer :-

« Fraternal twins /W@T\E{

6) When a teacher finds diversity in the classroom, it is better that s/he/ STd T ﬁT&‘ﬁ? BEIT ¥ fafaerar urar %, ar I’ aﬂ?ﬂ' % f& ds:
1. Divides the class into small groups/ P&l PIBIC ?IH\B;T T fauora ®1 |

2. Categorizes the pupils according to diversity/ fafaeuar & SIJAR faenfial &1 ajﬁﬁp—cf B

3. Combines all of them together/ $1 Tt ®1 Th AT i |

4. Sends the pupils from diverse groups out of the class/ faft ﬂ'{ﬁﬁ & faenfial &1 FeT Y dgX i

Correct Answer :-

« Combines all of them together/ T gt &t Th 1Y faar |

7) An Individualized Education Plan (IEP) is: / Tep SHTRITTl fRI&IT TS (SMSSUY) B:

1. A plan created for every student in a classroom/ Tch h&T A Uds 85 & ﬁ']’Q aqu‘ ‘TEF ST

2. A subsection of the No Child Left Behind-Act/ BTg Hi eal U 71 Fe- AT 31 T IUURT|

3. A contract that must be followed as specified/ Tdh e«rg@iu Rrgest ﬁrﬁfg ¥ # Ure fosar ST QT%Q |
4. An outline for the general education teacher/ JTHII fQT&‘lT fQT&‘faﬁ & f?m T TR

Correct Answer :-

« A contract that must be followed as specified/ U 31_:1,3 o et ﬁﬁg ¥ # gre fosar ST zlT%'Q |

8) Which genetic disorder is found only in females? Cank: | \?vlﬁﬂm fdPR Faa TI'%?ITGﬁ 9T SATar %?
1. Phenylketonuria / W—tﬁw

2. Turner Syndrome / Eﬁﬁf@ﬂ

3. Down Syndrome / Wﬁl@ﬂ

4. Klinefelter Syndrome / Wf@r@ﬂ

Correct Answer :-

« Turner Syndrome / E:hﬁ@q

9) To make socialization successful, it is necessary for parents to establish as early as possible in the infant’s life. / THTSIBRT BT

Toa 1 & g, arar-Rar & e gg snazas ? 7% 3 Ry & e o DI oIeT | e WTIa HY
1. Rules / Fad!

2. Routine / f&aaf

3. Rapport / ATGHT

4. Restrictions / Afciaelf

Correct Answer :-

« Routine / feTemf

10) What animal was used in Watson’s experiment of classical conditioning? / AT A FATRID BB (ﬁﬂ'ﬂmﬂ' UTIPp ) &y o
5 SR 1 SuaT o ur?

1. Cat / foeett
2. Pigeon / hgdX
3. Dog / Pl
4. Rabbit / TR

Correct Answer :-

« Rabbit / WY



11) Children who come from homes with unfavorable parent- child relationships tend to be ./ Tor o= & rar-far ofk =t &1 ey

TSI TR__ gRE

1. Less impulsive / hH 3maft

2. Good at intellectual control / I m [ERELEINE

3. Successful in social participation / IS yrfieRt & awd
4. Intolerant of others / GERI & UfaT 3rafge

Correct Answer :-

« Intolerant of others / GERI & UfaT Srafgey

12) Learner-centered education includes: / ﬁT&ﬂ' Qﬁ-m ﬁT&‘IT o wnfae %
1. Year-end appraisal / CLEZEGE i

2. Control over learning process / ST gfdhar W

3. Control by the study program / &g PHH gRT AT

4. Disciplinary force / 3R d¢]

Correct Answer :-

« Control over learning process / 3ITETH Ufehar O fd=01

13) Learning swimming or riding a horseis ____ learning. / RTHY mg@‘mﬁ HIRRE_ 3ffermw gargl
1. Motor / e

2. Associate / FRITQTd (THIRITC)

3. Serial / Sh1He (i)

4. Problem / JHXT

Correct Answer :-

. Motor/fl <X

14) A baby appears surprised every time her mother covers her eyes and then uncovers them. What Piagetian cogmtlve concept has the baby not yet

understood that makes this game so exc1tmg"/WW3Taﬂ'%miaﬂT%Wmmm3ﬂ@ﬁ ﬁ%mmﬁ@aaﬁ%l foa
RO TS GYURT B a= 3ft do Tae 781 UraT § ) 39 A S 301 A0S S 22

1. Conservation / &[0T

2. Seriation / ShHS&T

3. Object permanence / aﬁwﬂﬁa
4. Animism / SI19aTG

Correct Answer :-

e Object permanence / I R o

15) What is the study of the smallest units of speech known as? / HTHUT (F-ﬂ?l') aﬁmaﬁ?ﬂm‘qﬁ? YT B T el Srdl %‘.’
1. Morphology / 3T&d fas=

2. Morphemes / &UH

3. Phonemes / @A

4. Phonology / @ fagm

Correct Answer :-

« Phonology / & fagm

16) Which of the following is not a type of intelligence described by Sternberg? / fFrafafaa & @ @9 a1 et grr aftfa TP YhR @1 g@ ﬁ%’
1. Logical-mathematical element / - aa

2. Experiential element / 3{FHaGI dcd



3. Componential element / UCP dcd
4. Contextual element / G&Hfg

Correct Answer :-

o Logical-mathematical element / qfhe-ToRa aa

17) The earliest manifestation of inner speech in Vygotsky’s view is o aﬁ"'ﬁiﬁ& ¥ faar & siiafve yTyor @1 T gl srftraafa
:l

1. private thought/ fon foar

2. private speech/ EEIRNEL

3. social speech/ HTHTSIS HTHOT

4. personal speech/ I HTTOT

Correct Answer :-

« private speech/ EEIRIE

18) Which of the following is not a social motive that drives behavior? / fafafeada P-4 TP I SIfiRe Qﬁ% S AdegR 3l
TaTferd BT 82

1. Achievement / SUTTSI
2. Power / TIfdd

3. Intelligence/ @

4. Affiliation / FJ¥®T

Correct Answer :-

« Intelligence/ Ej@

19) Which American psychologist developed psychological connectionism — the belief that connections are formed between perceived stimuli and

emitted responses? /mmmﬁmwmmm-wﬁm%%ww,maﬁwaﬁaﬁ?m
wfafsraraent & da s1d €1

1. Jean Piaget / S Rt

2. Francis Galton / Jrfehg TeeT

3. Edward Thorndike / TSTS YMSSH
4. Charles Spearman / e TRRAT

Correct Answer :-

« Edward Thorndike / TSdS UHSS®H

20) From Big five personality dimensions, behaviors such as speaking fluently, displaying ambition and exhibiting a high degree of intelligence is
./ S UTd SAfdRIc AT [, YRTYATE SIe-, HedThie USRid #3 3R I TR B giwwl &1 UeRiA &34 &1 qdegR
:
1. Extraversion / Eﬂ%ﬂ'@?ﬂ
2. Openness / TWfad (GhTFﬁH)
3. Conscientiousness/ FTcT(8T
4. Neuroticism / ﬁﬁw

Correct Answer :-

« Conscientiousness/ Wﬁm

21) According the Vygotsky, the following are transmitted from generation to generation, except i amﬁ?\qaﬁ & SR,

P! Bl Fafrf@d A A fidt 9o siaRa g § |
1. Beliefs / YRUMY
2. Values / HI



3. Ignorance / SRITAdI
4. Traditions / URERTY

Correct Answer :-
« Ignorance / 3{AT
22) Fraternal twins are born of from _____. /[ YTq-09< (heagln) A daraa e
1. No ovum / ﬁ%%ﬁ‘@
2. one ovum / T ST
3. two ova / &l SfSTT]
4. one sperm / Th [PTU]

Correct Answer :-

. twoova/aari?am

23) What concept denotes the belief that one can effectively produce desired outcomes in a particular area? Kaek:il sﬁmﬁﬁﬁm P e W_cﬁ%\_rﬁ
I IRy g1 & giftsa ufvoms urea w2 awar 82

1. Self-efficacy / W-YHTaHTRET
2. Self-knowledge / TH-3TT

3. Self-esteem / STH-JHTT

4. Self-conception / T-FHeh el

Correct Answer :-

« Self-efficacy / ¥-HHTAHINT

24) Brainstorming as a technique helps to improve in the learning process. / T qbie F ¥ H fER dyq (ﬁ'—r RﬁT) T uftrr Y ufspar &
Y Jga¥ T § Hag At 81

1. Skills / It

2. Language / HTHT

3. Creativity / Xd-TTHD T

4. Critical Thinking / TTg fia
Correct Answer :-

o Creativity / TITHD AT

25) Play way method of teaching has been emphasised in the scheme of the education of : / Rrgor ot @« fafy Pt Rien it g A
SR & 7

1. Naturalists / Q?fﬁﬁ'l—c&

2. Realists / TuTefarc}
3. Existentialists / 3if&iard!
4. Pragmatists / AgRATG!

Correct Answer :-

« Naturalists / E@ﬁﬁﬁﬂ

26) CANCELLED
Which of the following is a socialization agency? / fafrfadde= TP JHTSIHRUT Toixt 2

1. All of the above / Judad Taft

2. Society only / Fad TG (TfHfd)
3. School only / Had A

4. Family only / %dd GRaR

Correct Answer :-



« All of the above / SUTdd THI

27) CANCELLED

A learning style of the students of every age are affected by their /

WIUF oM P T AW Af SaF _ grivwifaa gt 21
1. All the above / Judad Taft

2. Environment only / 3ad aTATARUT

3. Emotions only / Had HIaTSH

4. Sociological needs only / Had JATSTARATT ATTRIH AT

Correct Answer :-

+ Al the above / IUTa Tt

28) CANCELLED

Attribution theory is a theory proposed by: /WW (Eflﬂl!ﬂ:r uﬂﬂ) aﬁsﬂ%muﬁv@aﬁﬂnw
1. Jean William Fritz Piaget / S faferaw ket fuamat

2. Bernard Weiner / 97118 fa7R

3. B.F. Skinner / sit. T, f&p-R

4. Abraham Maslow / 3{STgH Al

Correct Answer :-

. Bernard Weiner / §9fS fa R

29) The least effective method to attract students’ interest and attention is: / BHE P A 3R e pffad s34 & i%nz I HH YHTA! THPT
T

1. Lecture method/ SAREAT fafer

2. Role play method / Hf&eT fafe fafy
3. Discussion method / T fafdy

4. Game method / 9d fafey

Correct Answer :-

« Lecture method/ SREAM fafd

30) Deemphasizing rote learning is a part of: / SIHBITSIT ey AR f= &1 v fawr 2
1. Special needs education / foRy siazae fRiem

2. Learner-centred education /&[&ﬂ?ﬁ (?Ff'\’) W&f&ﬂ

3. Progressive education /U"Tﬁ"«’ﬁﬁﬁT&ﬂ

4. Interactive education /W&[&ﬂ

Correct Answer :-

« Progressive education / W1 SR @T&ﬂ

Topic:- General Hindi (L1GH)

1) 39 FA Fe W AW I ARM |

wy oft, gH e 59 U, STt ST o T e W |
WY Sft, gH 9 91 g9 6T, S Rrdad 9¢ 9@RT |

o, g iue g T, STt S o o et |

WYy Sft, g0 Hiel &9 4mm, S WA forera e |

vy oft, g g T g g, Bt ufda By Yar |

2



T aa g RgFesg Y|
T e ST T A BT R 1l
ST B WTd 63 AR AT WR et ev |

T ST AR MAgFEATS I

AT PeIE foaag auAT A ¥ |

Pfe ATy Gg Y Hag RS AT 1

IUG TR B UGHR 2 IR S 9T Y BT IR qg¢

UY: BT & TR WA & W= F FA AT BT Hed10T 81 oI 82
1. 3fgd

2. SAFER

3. 9%

4. 9FR

Correct Answer :-

2) 39 HY P WA IE ATt |

Y Sft, g d&1 gH U, STt SF1-3HT 9T | |
Ty oft, g7 v 9 9 HRT, S R dg 9@ |

oy oft, g7 dTuw &0 arelt , STt Sifa o o wwedt |

Y Sft, g Hielt g9 4mm , Y WiAfE frea germ |

Yy <, G g W 7 g, R i Y e |
2

Wi aa ga RgFsga |

T Fray T RT A BT R 1l

ST B WITd 63 AR AT WR et ev |

e sas A NRgFEITR I

AT Bk faerag FEAT A Y |

Pfe ATy Gg Y Hag R AA & Il

ITT U= B! UgHR 12 YD A AT U= BT IR a5

UY: BRI F AR WA 30 gaTg | fft g &t ot e pe wapa &2
1. 4+ § GHA B

2. SA TN THA B

3. IS &1 9HA B |

4. RGH S IHA §

Correct Answer :-

o SA TN IHAG

3) 3T $A Fe IW AN IE ARM |

wy oft, gH e 59 U, SIrest of - of T e W |
Ty oft, g7 9 9 59 HRT, S R dg g@iT |

wy sft, g7 iU &0 anelt, STt Sifa o o wwedt |

uY Sft, g Hielt g9 4mm , S "WiAfE frea germ |

y ff, G g W o g, R i Y e |
2

el e g R P Y |

e fray [T AT WA BT R 1

ST B WITd 63 AR AT WR get ev |

e SusR A MRgFEIATSR I

AT PeIE g FuAT A ¥ |



Pig AR Yg ¥ Hag sReis I W 1

IR U= Bl UgH 12 YD T a1 U= BT IR a5l
wY: gRee ¥ TN W BT A o 32
1LH AP TS

2. RN TEF SR T

3. 8RSt & 99 5% GHT B I B

4. SRFTATERE

Correct Answer :-

- BRSN 4 99 po Gya g S gl

4) 3@ H ge IH AW ATM |

wy oft, gH e 59 U, STt SfvT-of T e w1
WY Sft, g1 O 9 g9 HRT, S Ridad 9¢ 9Bk |
wy o, g fiue g O, St S o o areh |
Wy ft, g7 Hiel g9 4mm, S WA firera e |
vy oft, g9 g T g qr, Bt ufda By Yar |
2

Wit e g Rg Feg A |

T frare e T A B R 1l

ST B ITd 63 AH AT UR get ev |

TR ST AN NG FEATS Il

AT FR faaag U A R |

Ffe Mg Y5 Y Hag gReis aaq | 1l

IR I Bl UgHR 12 YD T a1 U= BT IR a5l
TY: TR g T T 3 B2

Correct Answer :-

o 7Y

5) 3T $Y Fe I AN Y€ ARM |

wy off, gH e 59 U, STt SfvT-of T e W |

WY Sft, g9 9 91 g9 6T, S Rrdad 9¢ 9@RT |

o, g iue g T, St Sy o o et |

WYy Sft, g0 Hiel &0 4mm, S WA forera e |

vy of, 7 9 R 7 g, e R Y e |

2

et o g g peg @R |

T g e AT A BT R

ST B ITd 63 AR AT UR get ev |

TR FT AN NG FEATS Il

AT Hele foeeg U A R |

iR TRy Gg Y Hag sReMg AqA /R 1

IR R Bl UgHR 12 YD T A1 U= BT IR qaq18¢l
WY AT HAIS faarad =1 @ BT A0 A9 A SIJ BT 37 a1 82
1. 39ad ¥ A I e

2. 3O B BT UG T



3. 39 QRN & ST i ot
4. O 37 U B BT ISR go a8 a1fear &1 4f g

Correct Answer :-

« SR T U HIaE BT IGR g I afenar o1 ot grm
6) 9 HY P AW IE ARM |

Y Sft, g d&1 gH U, SITest 3136 a1 | |

WY N, T9 U 99 gH GRT, S FRidad e 9hRT |

vy sft, g7 dhuw &0 awelt, Srat Sifa o R wwelt |

wy Sft, g At & o, S WA Rrera gewm |

vy SR, 7 9 T 7 g, R i Y e |

2

et o g g P AR |

T frag ST RTA ST &R 1l
ST B WITd 63 AR AT R et e |

e SasR ARG FEATR I

AT Bl faerag GEAT A Y |

PR FAery Yg Y Hag R AT 1l

ITT U= B! UgHR 12 YD A AT U= BT IR qd15¢]
TH: WA & ATY TR AT MU & 7T 32

1. 9%¢e

2. 9@

3.99

4. DRI

Correct Answer :-

7) 39 HY Y WA IE ARM |

wy oft, g e g0 U, STt S-S ey T |
7Y oft, g7 9 9 59 HRT, I R dg g@iRT |

wy sft, g7 dTuw &0 arelt, STt Sifa o o wwedt |

Y Sft, g Hielt g9 °mm , Y WiAfE frea germ |

wy oft, g7 g art & are, U iR &% e |
2

Wi ara ga RgFsga |

T frae ST T A BT R 1l

ST B WTd 63 AR AT WR get ev |

e SasR A NRgFEITR I

AT Bk faerag GEAT A A% |

B3 ey Gg Y Hag RS AAA & Il

IR U= B! UgH 12 YD AH a1 U= BT IR qd15¢|
TH: AR TG B G@d 81 T A AT 82

1. RO

2. AT

RN

4.7

Correct Answer :-



8) 34 HY Fe IH A I @It |

WY N, T S 59 U, ST S-S o waE |
Y Sft, g9 99 591 g9 6T, S e 9g goRT |
o, g iU g aTeht, St S o o e |
Wy Sft, g Al 59 o, S WA frea gewm |
wy oft, o g e g g, TRt wiek Y e |
2

el e g R peg Y |

T frare e RT AT T R 1l

W B T FS AR AR GE @ |

TR ST AN NG FEATS Il

A B faeirag GUAT AT A |

Hg faery g ¥ Hag sRefis IwA | 1

SUYed Ui B Uge} 18 IR S aTel W= BT Sk aars|
WY i YT aTed § ot Yo fhad wa 82
1. ST & EHH

2. 3THHM & FAE

3. ¥Rcll b JHM

4, forddl AR & 90

Correct Answer :-

. fedtaR & A

9) 3d FY Fe I AW I AN |

WY N, T e 59 I, STt S-S o wae |

Y Sft, g9 99 91 g9 6T, S Rraad 9¢ gHRT |

wy ft, g7 U g9 awedt, STt S ¥ fae vt |

Wy ft, g0 Al &1 umm , S e forera e |

wy oft, o g e g, RRit ek Y e |

2

el e g R peg Y |

T e e RT AT T R 1l

W Bifd T FS AR AR GE @ |

TR ST AN NG FEATS Il

AT pele fadag U A R |

HfR A g ¥ Aag st AR | I

ST UL B TP 19 ID WM a1 U BT IR q15¢|
. UfE WTET TG § A W fpwe! a¥g @ W Sruerd diq B FigRaT ware?
LB

2. TPR

3. e

4. QR

Correct Answer :-

10) ¥ HY Fe W AT ¥ ARt |

Wy Sft, g1 e g9 U, STt SfT-of T ey W |
vy oft, O ¥ 3 59 AR, S Riaad 9g 9o |

Ty oft, T Siue 5w andt, et S R R et |

vy Sft, g Hielt 59 o, S WA frea gewm |



Y Sff, gH g T g o, Tt wida S Y |
2

el e g R P Y |

e frarg e RTAd ST W 1l

ST B SI7Td 63 AR AT R et e |

TR ST AN MG FEATSR Il

AT Bl faeirag GUAT A X |

wfe ATy Fg Y Hag R ATA T 1

SUYe Ui B Uga] 1 I o9 aTdl W= BT Sk aarg|
WY: IS WiTaTe Al § A wad fead W 32

1. 99 & JHH

2. YT & T Forerd Al R &

3. (¢ & qu

4. R & TAH

Correct Answer :-

o YT & T RO At ORI &

11) 39 HQ Fe W AH € arfl |

WY Sft, g e g0 U, STt S-S oy | |
WY o, T U9 99 g9 GRT, S fraad 9 9@ T |

Ty SR, g7 Siue g andt, et Sifa R R et |

vy Sft, g At 59 o, S WA frea gewm |

WY N, T9 g9 i g9 g, Ui iR 3 Yer |
2

el e g R P Y |

e frarg e RTAA ST W 1l

W Bifd T FI AR AR GE R |

e ST AN MG FEATS Il

AT Bl faeirag Gy A a¥ |

wfe ATy Fg Y Hag e AT 1

SUYe Ui B Uga] 1 I W19 9Tl W= BT Sk aars|
wy: S wia due § @ e frad e 32

1. Rm et we

2. JA P TE

3. P WG

4. ITcll BT RE

Correct Answer :-

. S I TRE

12) 3@ H| Fe 9 AH € arfl |

vy Sft, g e g0 U, STt S-S Ay | |
Yy oft, gH 99 9 g9 HRT, 9 Riaad 98 9ok |

Ty SR, T Siue g anlt, et ifa R R et o

vy Sft, g At 59 o, S WA frea gewm |

oy oft, g7 g Tart g e, U i & e |
2

et e g R P Y |

TR g EEesr AT A S R

ST B SI7Td 63 AR AT R et e |



T ST MdgPEATS Il

AT Bk faerag Gy A Y |

TR ATy Yg Y Hag R AA T 1l

ITT I B UgHR 12 YD A AT U= BT IR qd15¢1

UY: T SR old WG BT Uit ST T Wad IR ¢ SITdT € of o7 gl 82
1. gl g IR S B

2. 1 AR Tt =161 Bean

3. FTATT G AT ]

4. T BB US ST B |

Correct Answer :-

o @ R Pt e gean

13) 3@ HY Fe W A9 € arhl |

Y oft, g d&T gH U, SITest S-S0 a1 qHrET |
Y ft, gH 99 9 g9 HRT, S Riaad 98 9T |

oy sft, g7 iU &0 awelt, STt Sifa o R wwelt |

wy Sft, g At & o, S WA Rrera gewm |

wy ft, G g T o g, R i Y e |
2

el e g R P Y |

T ey ST RTA ST R 1l
ST B SITd 63 AR AT TR get e |

e FusR ARG FREATR Il

AT Bl faerag GEAT A Y |

e ey gg Y Hag shRefg AqA TR 1

I LI B UgHR 12 YD A AT U= BT IR qad15¢1
WY: 39 UG A By 3 Yo o foba srawt &1 qui= fpa @2
1. 9 Hod TR Ui &1 81 G RE & 9 a3 |

2. I H A IS Tl

3. O Yo IRT SR A PRI G ST 31

4. SIF T ¥ o RIS Ha1 B

Correct Answer :-

« Ofd Herd TR HiekT BT 7 G e A He W g
14) 9 HA e I AH I AW |

Y Sft, g d&1 gH U, SITast S-SR 9T || |
Ty oft, g7 v 9 59 HRT, I R dg g |
wy sft, g7 STuw &0 arelt, STt Sifa o o wwedt |
"y Sft, g Hielt g9 4mm , Y WAfE frea germ |
y ft, G g W o g, TR i Y e |
2

el e g R P Y |

T fray ST T A BT R 1l

ST B WTd 63 AR AT IR et e |

T ST AR MAgFEATSN I

AT B faerag GEAT A Y |

e ATy Yg Y Hag R AT Il

IR I B UgHR 12 YD A AT U= BT IR qd15¢|
WY: TS WITaT ¥e § df Wad Fa1 32



1. 30T
2.
3. e
4. TS

Correct Answer :-

15) 3E HY Fe I 9 ¥ art |

wy ff, gH e 59 U, STt ST o W |

WY Sft, gH 9 991 g9 6T, S Rrdad 9¢ 9@RT |

Y oft, g9 YU 59 aTelt , STt S o fa el |

WYy Sft, g9 Hielt &0 4mm, S W forera e |

Ty of, 0 TR 7 g, ¥ R Y e |

2

it o g Rg Feg A |

TR e e RT A BT R 1l

TP Biff T s AR AR gH R |

TR FT AN NG FEATS Il

AT Bl fodag U A |

B WMy Y5 Y Hag gRens a aA | 1l

ITYT UL B YD 12 TS 91 91 U HT I qarsy |
TY: S e DY Y U & ga-g § THT STl @ AR € uY B HiFT pel g ol 22
1. Yo & HUS B

2. Y& P S-S H

3. YT & HieR #

4. YFIF WA

Correct Answer :-
o YT P S-S H

16) T 3T TF 71 18 & TR SRR BT TR TR 1 I8 A 181 © b 3T Pad ST HE WX I8 TS &2 1 95 6 g1 % foal R G Pfaar wrdg six
I TR TRERTSH | A g &1 TS 82 T WRAG F ¢ g 919 $© of srmard Rar & 7d v 78 1e iR $o witard i ek T gH Y 8 Y §? aRt
SR T T § g9 SRT TR § Ok R & Ry & g 3ie g wnf et 3@ §, R gg T aa § 5 wafa 1Y 8, wror 1Y 8, wmon ok wnfew A wRdg g @t
et =ifd €T ], UTeT STa-RITR | T9d-g=d Aeit & SHfieiiie Ui § SR g1 o1 W {1 it siadE 81 & wae § wiew 3R |- 3rTe ST o ET 81
IGRAT BT ST W 3ToT A1R FraT &= &, Wi g 3ux Wi 9% A Fad g 91 FI Wer 3 ot &30 it 3o sreft 1§ 981 37 99 & g@ ¥ «n 82 ag) gheiw
FI 3R 3TF 1Y F AV gY el B HEOr HET |

g2 gRes 3 ura R W BT e FS 3@, AR P F iy a9TE wod ¢ o SR W A o vl Wt Wit & g worm A o o waa 1A
Fad U fear afep T Tod 30 sHdt F orJaT 99| TEpd, T7Tew, I, ToRTd! iR WIS} freft 31 Bt 78| ww wfyt & foran ok e oot He oft &t 3= wmedt
1 39 SR =N F) AP 3T 9¢ W T4 ¥ gda, dR- ﬂﬁﬁﬁSﬁ?ﬁﬂﬂﬁﬂﬁﬁsﬂwuﬁﬁwﬁ%ﬁmmﬁ?%ﬁmmwﬁﬁWﬂﬁmﬂiﬁ'ﬁ?ﬁ?ﬁﬂ
T T, T Shell, T8 W Gelt St 7 A5 IR ST et A omt oma 76T | gwfR R wnfeer # e arat Rt il & Al v@ e ok 78 @it fia e
TE 11 A HRh g SR geE Hew ol 9 ok fave ot it R fveht @erar T, sha 3t TEws § e 37 SR e 9% 81 fpan; B, I g A R S oM &
1w, A ¥5 9 F fore Y1 3= Sitaq & aau® & ® Wi fAgR BAT AT, Ta W UTR SidR ga A8l AT 4T Q1Y g I §U 7 o1, Hem =1 gay &1 uig
TMER F AR | AT IG5 T HIOHY 397 Ta1 1,3 3 FI gz A v at 317 ot 3l oY Up-uap WY 3% &1 ARA At <ft, WRA-Yf &7 Up-UF H01 39 FH
T faerg Iaar 4T 5id Sola & ITd 3Ta dt U1 gE-gd It & I H gt 3 A

IR T BT UGHR 1A U Y YA $T IR ga1gu|
wH: IR A wifew | foran o waw) @@ iz

1. BNTS-HAH

2. 3O He

3. PO TI

4. T

Correct Answer :-

o U A

17) Y 3T 89 BT ¥R & W gReE &Y SRt R 1 a8 99 98 @ o oo Faa 3@ BET WR T TS 82 71 g8 e e} b fEd) ok & wfaar urdg ik
I TR TRARTS A A R 7 TS 3?2 TN YRAG & 9T §T S $© a Sramardt fFareh & 7o vg 798 1 3R $o wiiard sifa o e ou Y =161 1Y 82 IRt



SR 9T 3ravTe # g9 IRT IR § iR TR & faprar & g i Fiepx unf edia @ €, W g 78 ma € o wafa 1t 8, wnor =it B, uman ok Wi & wRdg g Y
Staeit =fd 7€ 8, YT STa-RTR | Tua-39a wieit & if¥reiiie uie & SRR gt o1 36 81 it siad@ g & wae § wied iR |- 3riTel gia1 o TeT 8
ISRAT BT ST 9 3MTeT AR FraHT &= &, Wig g0 U Wi 939 A Fad U= A1 F1 ey 3 urd &30 it 3o areft 31 F 981 39 99 & g ¥ oan 82 ugt ghes
P SR IS 7Y A A g drell 3T F301 BT |

giAwam? gfteis 3 uTeT SR AR FY /e P T, SR TH UTHT & T aeTs wsd gu ft 3R Tud & oA ara wft It & o we A W ge 7 Bl |
Had SUS U afRp T T4 3U SHl § SA[aT 9| AP, e, I, ToRTd 3R TRTST it 31 BieT 76T | e wnfget & foran ok Waw! oot de off <t 37 At
Y 59 IER =R T ABR 3T 98 W Y gag, TR-9R B ok R Wit &) 59 yoR IR} A v 2 F afen fop S ot ot weft a9 #= 38 ) 9 & &
Fd T8, W Sddl, a8 Wt et sHl 37 15w 3N Srd-ae fpelt F Smt aman =11 sty fEdh e ® e arat fafi= wiat & anf 3 71y 37 95 @ sia s ar
IE TATI A He R 3R gRes Hed al U iR fave 1 S W o Ao w@1, shaw 3t 167 # 1893 &1 391 9o 99 98 P el Age A R Fw em &
e, A ¥o 9 F e Y1 3= Sitaq & auw & | Wi fAgR BRAT AT, Ta W UTR SIS ga A8l AT AT Qi g I S 7 o, Her "= gey -1 ui9 i,
TR F AR A gIAT I AT HIouT 397 1LY 41,3 A1 3t g3 A fawpa gha o orcftal 3t vop-uss Wfa 3= &1 A @t Y, WRa-4fY &1 TH-uE HU1 I H
B farerg I&aT 4TI 9 SoiaH & So0d 3Td a1 30T 4&-gd St & I A gal 3a A

IR T DI UGHR A ID T U $T IR Faizu]
wy: R wifger & fare ardt frads wnf & o2

1. JUAE &

2. PRI &

3. Tareft &

4. o= Ol &

Correct Answer :-

. faf=r e &

18) wﬁmmw@%wﬁgﬁwﬁmﬁwmﬁmqﬁ%%mmmmmwné%ku?wqﬁﬁ?%ﬁaﬁv%ﬂmwﬂgaﬁ?
FAPT W TRERTSHT & HRA g2 8 TS 82 T URAG & 1Y §U S $© Y Sramard! A & e = 78 7 ok $o wWiiard) sifg e Us gd Y= -7e1 Y §? IRt
eﬁwhﬂsmﬁﬁmv%%aﬁ?%a%ﬁm%mm@mnﬁmﬁ% TR 9% 7181 3Wa ¢ b Sfa 1€t ], wor 7 8, wmon ok wnfewr # wRdg g &t
et =ifd 7ET ], UTeT STa-RITR | T9d-g=d Aeit & Sfieiiie Ui § SRR g1 o1 W {1 it siadE 819 & wae § wiew 3R |- e giaT o IeT 81
ISR BT G1aT W 3ToT A1R ForaT &= &, Wi g U Wi 9% A Fad 3w A1 F1 Wey 3@ ot &30 it 3o sreft 1§ 981 37 99 & ga ¥ «n 82 agt gheim
FI 3R 3T 1Y F AV gY el B HEOr HET |

giremm? gfvsig I uTeT R AR B 3T P 3T, 3R TH HTHT & 1T @sTE wed §¢ +ft 3R Hud # o ara wft ARl & Got @ A W ¢ HaM Bl |
Fad U fear afRp & T 30 sHdt F SrJaT 99| TEpd, STew, I, ToRTdT SR WIS} freft 31 BT 78| ww wnfyt & feran ok e oot He oft &t 3= wmedt
WY 39 ISR =R T ABR 3T 9¢ W g Y 3o, TR-9R T iR Wit o) 30 7R IR A v W2 F afen fp S it st weft 79 F= 38 ) 9 & &
T TP, T Shell, T8 W Gelt St 7 A1Ew IR oo et H omt amar 76T | gwf R wifeer # e arat Rfte il & Al v@ e ok 78 @it e e
TE T 1 A HRd g SR geE Hea ot 9 SR fave ot it R foeht @erar T, sha 3t Tes § 67 &1 SR e 9% 81 fhan; g, I g A R SW M &
fRre, A ¥5 9 F fore Y1 3= Sitaq & aau® & # Wi fAgR BT AT, Ta W UTR SR ga A8l AT 3T Qi g I S 7 o1, Her =1 gay &1 uig
TMER F AR | AT X5 T PIOHY STH Ta1 1,3 3 FI gz A vat 312 @t 3l Y Up-uap WA 3% %1 °ARA At <ft, WRA-YfA &7 Uh-UF H01 390 S
T faerg Iaar 4T 5id Sola & IxTd 3Ta dt U1 E-gd It & I F gt 3a A

IR T DI UGHR 1A UD T YR $T IR a1
"y S Tt ) 39 UPR AR A T Yo ¥ §iur & [ it 7 99 7 7@ mn

Correct Answer :-
o R et

19) Y TS 59 |1 ¥R & WR g% B TRt R 1 98 T9 98 8 5 3o Faa S9a BTt WR T TS 82 71 g8 09 e} 1 &) ok & wfaar urdg ok
I TR RIS | P g &1 TS 82 T URAG F ¢ gU 919 $© of srmard Rar & 7d va 78 ¢ R $o wiitard 3 vk T gH Y 78 Y §? aRt
3R T SrawTe ¥ §a IR ¥R § O Rt & farerer & Riw oid g Anf edier @ §, W U 7 3wd ¥ s e 8 R, wmor €Y 8, e ofe i # wrdg g ot
et =ifa 7 8, UTT STa-RTR & Taa-awa et & sifteifire die & R 2t o 3?1 aiftw siad@ g & vt A wifea 3R die-3rme giar o <aT 31
JGRAT BT S1aT W 3ToT =R a1 o= &, Wi g U Wi 999 A Fad v 91 Ft Wer 3T urd &3 9ft 3o areft 1§ 981 37 99 & q@ § 7 32 aE) gleim
FI 3R 3T 1Y F AV gY et B HeUr HET |

g2 gRes 3 ura 3R W BT e P 38, AR TP wwn F iy 79T wod g¢ M SR Huh A o vl Wt Wit & g wom A o o was 1A
Fad U fear afep § Tad 30 sHdt F Sr[aT 99| TEpd, STew, I, ORI 3R WIS} foreft 31 Bt 78| ww wfyt I feran ok e sroeft He oft &t 3= wmedt
1 39 SR =N F) AP 3T 9¢ W g ¥ gda, dR- iﬂ‘\fﬁaaﬁ?%ﬁﬂ%ﬂﬂﬁgﬂmmﬁﬁ@@ﬁaﬂ%%ﬂﬁﬂ%ﬂﬂﬁmﬁmﬁﬁﬂmih'ﬁ?ﬁ?ﬁﬂ
Pd T, W SPdl, a8 Wt Geft sHll T A1eH 3N Sre-at ol F St aman 16| gwfeng f&dh wnfew & e arat fafir=r Sl & anf 3o g 37 98 @Rl gia s7ar
TE 11 A HRi g SR gieE Hew ot 4 ok fave ot it R fvweht Terar T, shae 3t TEws § 467 &1 SR e 9% 81 P g, I g A R S em &
1w, A ¥5 9 F fore Y1 3= Sitaq & e &5 & Wi fIgR BT U1, Ta W UTNR Si@R ga 81 AT 4T Q1Y g I S 7 o1, Her =1 gy a1 W9 T,
TMER F AR A AT X5 T PTONUT 397 T8 1,3 3 FI gz A et 319 @t ol Yt vp-usp WY S %1 A= At <ft, WRA-Yf &7 Up-UF H01 39 FH
o faera Iaar 4T 5id Sola & Id 3MTa df U1 gE-gd It & I F gat 3a Al

IWT T BT UGHR 1A U T YR $T IR ga1u|
Yz IR U T YT, WY1 T FqT >

1. RO DI HE

2. T BT YE

3. TSI &1 U



4. WE BT UG

Correct Answer :-

. EEUBIHE

20) T 3TS 89 TAT 78 & W gReis 3 T-H=d W 1 U8 99 81 @ b 3T Frae S9! I R I TS 32 77 9% T e b S o & wfarar wRdg iR
I TR TRARTST A HRA R &) TS 82 FIT YRAG & 9 §Y W $© & Srmardt e & e v 76 1Y ok $o wifaard} sifa ures e of Y =18l Y 82 IRt
SR AT SfqTe & g9 ST B & R R & i & forg sfd v wnf el W §, Wwﬁm%ﬁmﬂﬁﬁiﬁ% wToT 1Y B, W 3R Wife § WRdg g Bt
Shat =it e 8, HTaT Tera-RR | FEd-g9a weh b e e ¥ R aid o 6 81 wiftw siate e % wae # it of die-armer gt S e 1
ISR BT ST 9 3Tl 1R I o= &, Wig g9 U= Wi 99 A Fad U= A1 F1 Wtey 33 ot €41 ot 3o sredt 31§ 981 39 99 & g & «an 82 ugt gheis
F1 3R I 1Y A AT gY el Bt B HET |

giawam? gfveis F yTeT R TfF FY /et RSP T, SR TH UTHT & T aeTs wed gu +ft SR Tud # oA ara Wit It & g we A W g 7 Bl A
Fad U feuT afe § Tad 30 SHat A SA[aT 99| TEpd, T, I, TORTA! 3R TRIS! bl 31 BT 78| 7w Tyt | fRran ok waw st de Wt &t 379 amedt
WY 39 IER = T ABR 3T ¢ W Y gag, TR-IR B ok R Wit oY 39 yoR IR} A v W2 F afen fos Fd wite st weft 99 F= 35 mam 9 & &
P B, W SPhell, I8 Nt Telt Shelt &1 A8 IR re-ga bl & omiY amar 1€Y1 g &) e & frem ard =T Sl & anf $9 7 3k a8 Tt 3ia THee
IE AT A He Ry 3R gRes ved al U iR fave #1 S W ol Saar we1, Siaq it 1S # 189 &1 391 9 9% 8 fPa; e, A A R FIWem &
g, 7 ¥ 9 & RiT 781 3= Siaw & U &5 A Teiq [9ER HET o, TA T IR ST g 6l W1 411 WY & S8 $U 7 T, W =1 geg &7 W9 T,
TER F IR A AT TG T BTONU 39 1 AT, 3= FY gz A fypat g1 Y Srclid Bt Uop-Uep W 3% 1 ARA @t <ft, WRA-f BT Uh-UP BT 39 BT
H fera I3aT 4TI 99 SSHaH & So0d 3Td @l SIUHT YI-gd St & I A gal 3d A

ST T B TGHR T TS T YA BT IR T8
UY: 35 W19 & SIS &1 & FaT ST UT?

1. 4 3o

2. Wwhe fagR

3. I 35

4. U5 7 Fyafe

Correct Answer :-

S TACRN

21) wﬁmww@%mﬁsﬁ%ﬁm@wwwwqﬁ%%mmmmmwﬁévwwwqﬁ%%ﬁaﬁ?%ﬁmmﬁgaﬁ?
FP! TR TERTST A HRA R &) TS 82 FIT YRAg & 9 §U SIS $© a Srmardt fFar & e uer 76t 1Y 3R $© wifaard! it ures e off Y =18l Y 82 IRt
shahwsmﬁgamv%%aﬁvﬁﬁ%ﬁm%ﬁmar&ﬁmﬂﬁmﬁ% W%qﬁm%ﬁ?ﬁﬁqﬁ% wToT 1Y %, W 3R Wife F WRdg g Bt
et i 781 8, HToT §9Ta-RITR @ T99-999 Ae ¥ SRR Wi | $RER g1d) o 18 71 Iifew S 81 & W A wied 3R id- el giaT o1 R8T 1
ISR BT ST W 3Tl ATR a1 &= &, Wig g9 U Wi 939 A Fad U= A1 F1 ey 3 ot &30 it 3o areft 31§ 981 39 99 & g ¥ «an 82 ugh ghes
P SR I 7Y A A g drell 3 F301 BT |

giramm? gfveis 3 wrer R A1 ®Y 3T B3P 3@, R TH UTHT & 1T @eTs wred g¢ it 3R Tud # I ara Wt TRl $ got @e A W ¢ HuM B |
Had SUS U afRp T TaU 3U SHA § SA[aT 9| AP, e, I, ToRTA 3R TRTST it 31 BieT 76T | e wifget & foran ok Waw! oot de off &t 39 At
W} 59 ISR = T ABR 3T 9¢ W Y gag, TR-IR B ok R Wit &) 39 yoR IR A v G2 F afen fos R ot ot weft 99 F= 35 mam 98 & &
P T8, W Sddl, a8 Wt et sHl 371 A1ed 3N Srcd-aet fpelt § St sman =11 sty fEd e # frem arat fafi= widt & anf ¥ 71y 37 95 @ e s ar
IE TATI A He Ry 3R gRes ed al U iR fave #1 S W ol Ao w@1, staq it 17 # U89 #1391 e 99 98 fPan; e Age A R Fw em &
e, A do 9 F g Y1 3= Sitaq & sauw & | Wwdq fAgR BT AT, Ta W UTNR SIS ga A8l WRAT AT Q1Y g I S 7 o, Hier "= gey &1 ui9 A,
TR F AR A gIAT I AT HIoUT 397 7T A1, A1 ot g3 A fawpa gha o orcfta 3t uop-ua Wfa 3 %1 A @ et A, WRA-4f #1 TH-ud HU1 I H
B farerg I&aT 4TI 9 Soia & Sc0d 3Td a1 301 Y&-gd St & I A gal 3a A

IR TR BT UGHR - ID T U FT IR a1zl

wy: g% 3R shels Hea fruel SH w food Qaar wr?
1. 99 3R gorr

2.9 3R favg

3. TN 3R HH0T

4. 9T 3R UferT

Correct Answer :-

. TR fRe

22) T TS &H WAT T8 & W RS B TR IR 41 U5 W 81 © 16 TS et ST PoTH HR I@ S 82 T I WA 61 1 fodt S il wiarar wRdlg iR
I TR TERTSH | FA g &1 TS 82 T WRAG F 9T gU 919 oo o srmard A & 7d v T8 1 R $o wiitard s ek T gH Y 8 Y §2? aRt
R T 3raTE H g9 IR @ § SR & & v & R 3id e arf edia W §, W ae 1 T@a § ot 7 @, wor i 8, wren ok wifve # wdg g Bt
et =ifdR €T ], UToT STa-RTR | T93d-g9d Aeit & Sfeiiie tig § SRR 1 o W {1 it siadE 819 & wae § wiew 3R diw-ruTe g o1 IET 81
ISR BT G1aT W 3ToT A1R FraT &= &, Wi g 3ux Wi 939 A Fad v A1 F1 Wer 3 ot &30 it 3o sreft 1§ 981 37 99 & 4@ ¥ oan 82 agt ghew
F SR I BT A A g drell 3 F301 BT |

e sfves Ay ok it &) s Hed 4, aﬁ?wW%ﬁqa@éa@%gﬁﬁﬁmﬂsﬁ&ﬁmﬁvﬁhmﬁ@%qﬁ@aﬁﬁwg@wﬁmq
Fad U fear afep & T 30 sHdt F SfJaT 99 | TEpd, TTe, I, ToRT SR WIS} freft 31 Bt 78| w9 wnfyt & feran ok e oot He oft &t 3= wmedt
1t 39 SR =N F AP 3T 9¢ W T Y gda, dR- %ﬂ‘\f%ﬁsﬁvﬁamﬁwaﬁsﬂwmﬁ%w@ﬁmm%%ﬁwﬁwmmﬁﬁwwnmih'&?ﬁ?hﬂ
A TG, T Sohell, T8 W Gell St T A1Ew IR STe-aa fopeht & omt o 76T | g B wnfeer # e aral Rfte ial & w1l v g ok 78 @it gfia e
TE 11 A Heil g SR g Hea ot 9 SR fave ot it R el @erar T, Sha 3t Tews § 467 &1 3R U 9% 781 P o, Ige A R SW M F
fRre, A ¥5 9 F fore Y1 3= Sitaq & aau® & ® Tedq fAgR BT AT, Ta W UTR Si@R ga A8l AT 3T Q1Y g I §U 7 o1, Hew "= gey a1 uig i,
TR F AR A gIAT I AT HISUT 390 7T 41,3 A1 3t g3 A fawpa gha o orcfta 3t vop-uas Wi 3 <=1 A @t Y, URa-4fSy &1 Tw-ud 01 371 H
o faera Iaar 4T 5id Sola & ITd 3Ta dt U1 gE-gd It & I F gat 3 A



IULE TR B TGHT A IS T YA PT I} q@T
TY: IRY SR AT e g9-IaT 3R §2

1. arene o

2. 3G §

3. T H

4, T H

Correct Answer :-

. 3fgure

23) T TS &9 T 78 & Wik gRes 3 SA=Idt IR 91 98 T4 61 & b 319 hae ST! B U ¥E TS 82 1 9% 0 e b &) o R pfar g ik
I TR TRARTSH A FRA R 8 TS 32 FIT YRAG & 9T §T i $© a Sramard) fFar & e vg 798 1 ok 3o wifdard} sifa ures e of Y =161 1Y 82 IRt
3R 9T 3rawTe | g9 ST IR § 3R &) & e & o i o unf cdla R 8, Wﬂ?ﬂﬁm%ﬁ?ﬁﬁﬁﬁﬁ% wTor Y 8, wren 3R e § uRdg gu
et =ifd 7Y 8, uTr STa-RMIR & qud-ga et & ifreiire die & SRR 2t o 3 71 nftwr siad@ g & waer A Wi 3R die-3rime giar o <81 81
IERAI BT 341 9 AT TR RIa1 FX &, W &9 U7 T a0 | Faa o 915 B Wy 37 ura 8,3 oft 3= 3ryeft &1 % 71811 37 99 & ga § 71 82 a6t gieis
FI 3R 3TF 7Y A AT gY drelf Bt B0 HET |

e gfesis A U SR g &Y oot HXdb 3T, R TP UIT & fog deTs ded gu oft 3= Jud & o arat |t wifgel & got woim § W e aam &1 9
Fad IUSY feur afep & Tt 30 SHdt A SF[aT 99| TEpd, S7Ta, I, TORTAT 3R TRIS! fbeft 31 BT 78| wa Tyt A foran ok e oot de ot &t 3= amedt
WY 39 IR = F AW T 7 W Y gag, M-IR K ok R Tt o) 39 voR IRt A v G2 F aten for F aiRe st weft a9 #= 35 ) 9 @ &
Pd T8, W SPdl, a8 Nt Geft sH ! &7 A18d 3R Sre-aa fpelt F St aman 16| gafe & e & R ard fafi= Sl & anf 3o 7Y 37 98 @) e s7ar
T T I Het gRes SR gRes Ted df U0 3R favg 31 S W fsad Saar Te1, saq 3t 1618 & 89 &1 397 91 9@ 81 {5 8, AIge A R W em &
e, = Yo oA F Rw 781 3= Siaw & e &5 & Wi fIER BT AT, Ta § TR SER ga el 611 4T 91y g I §U 7 o1, et =1 g6y a1 W9 T,
TMER F AR A AT Ig T HTNUT S0 Y 1,3 3 FY gz A et g1 @t orcfid o Uop-usp WY S %1 A= At <ft, WRA-4f 71 Up-UF BT 390 HHT
T faera Ioar 4T 51a SoiaA & Id 3MTa df YT Y&-gd It & I & gar &a Al

SUYe TN B TgHR Y I T UK BT Si¥ Ia1sCl
TY: YRA-YY BT 1 3P Bl A faera o ur?

1. TH-US HU

2. Th-T Salls

3. TH-TF Y

4. TH-TS geT

Correct Answer :-

« UH-UE B

24) T 3T 59 A ¥R § W SR e% F S W a1 95 e e § 6 ot Fae 3 wer 3R ¥e T 32 71 9 wa A6 6 Y ofie Y wfn wRdg o I
TR TRERTS A FRA R 7 TS 32 T YRAG F T gT NS 59t Srarard iR & e va 98 77 o o wfaard) sifg ureR Ue g0 Y= T 7 ¥2 TR iR |t
TG § §H IARTTE ¢ R G & faprer  forg i g Al eeier @ 8, IR 9 781 Sl © & sty 1Y 2, wvor 161 2, e o wnfeed # WRdlg T 31 sita+t wifda 78t
2, YT E-RITR § 93-999 Oreht & sifteiiie fig & SRR gk o 38 31 Wi Sade e & wae & 9t ok die-3rTel ST ST 36T 8| STl ST 41 84
snﬁl%?gammﬁuﬁgswmﬁtﬁﬂa@ﬁmaﬁwﬁmﬁﬁauﬁ%ﬁmmmwﬁﬂﬁl 199 & a | 7T 32 TS g B 3R IFF Ty A I
¢ HHU BN

g gives 7 uTeT 3R WIS B et Hdb T, 3R TH YT & foe de1s asd g¢ off =i Tud & o ara Wil it & ot woim # SR | 7a™ &1 9
mmﬁmmamwﬁ—mmwmmaﬁwmmmﬁmqﬁuwmammmmmmaummmm
3 IER =D B AHT R 98 W TR ¥ gaa, MR- i ok Rt wifeea &1 30 o Y A v R i i S anfyey Fandt el o1 3% 35 mam It A A A 7,
TR sPdl, a8 W Gell shet &1 AEd anw-aa%\nﬁﬁarr?rmﬂ'éﬁsﬂﬁm%ﬁﬂﬁwﬁfﬁaﬁmﬁﬁfwaﬁ%qﬁwwaﬁvﬁmeWW|
T BRA g SR eRes Hed a) I 3R fave &t S w ool Qe ver, Shaw #t mewrs # 367 &1 39 gt a = fba; g, 3 g ot il IR om & forg, = e
M & e 78| 3= shaw & aTus &5 W Tde fAgR BT T, T & AR ST ga 81 AT 47| WY € SAH U 7 o7, WeT T=I1 g BT UG U1, e & 3
I IEA AT HIou= 397 T8 U1,3 3% 1 gz A Rvat g1 @t st 31 vop-uer Wi 38 <21 URA et f, YRA-YfA F1 Th-uF H01 370 1 & faera Iaar 1|
G Sl & S T Y U FE-gd St & I A gat 3 A1

UG TN B TgR A TS Y U= BT I TSy
UY: §H WR Y% I T TR 32

1. fgwrdt

2. A=t

3. SR

4, STERT

Correct Answer :-

25) wﬁmww@%mﬁaﬁwﬁw@wwwwqﬁ%%mmmmmwﬁévwwwqﬁ%ﬁrﬁsﬁ?%z&ao‘hmwﬁgaﬁwqaﬁ
W RT3 A HRA gR &) TS 82 T YRAg & 9T §U S 59 ol STarard! ffuri & e ua 78 77 3 8 wifaard) oifa e U g0 Y= &t 1 &2 IRy iR &Rt
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Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don‘t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way boys
play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which involve
competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games like
skipping and those that are focused around babies and teddy bears.

When did the writer find out that boys take up more space?
1. While conducting a research

2. While conducting a workshop

3. While teaching at a school

4. While helping at a playground

Correct Answer :-

®  While helping at a playground

2) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don‘t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way boys
play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which involve
competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games like
skipping and those that are focused around babies and teddy bears.

By what means do boys usually show their competitive but violent nature?
1. By using wrestling

2. By using fists

3. By using weapons

4. By using their legs

Correct Answer :-

* By using weapons

3) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don‘t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way boys
play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which involve
competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games like
skipping and those that are focused around babies and teddy bears.

What do boys’ games centre round?
1. Physical strength

2. Mental strength



3. Climbing ability

4. Athletic ability

Correct Answer :-

®  Physical strength

4) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don‘t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way boys
play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which involve
competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think more
peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games like
skipping and those that are focused around babies and teddy bears.

How does the author describe the way the girls play?
1. Intelligently

2. Peacefully

3. Actively

4. Gently

Correct Answer :-

®  Peacefully

5) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!"

What is the poet afraid of?
1. the scissors

2. the knife

3. the blade

4. the razor

Correct Answer :-

® the scissors

6) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,



All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade
He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!'

How does the cut hair feel while falling down the back?
1. tickles

2. cascades

3. brushes

4. tumbles

Correct Answer :-

® tickles

7) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!"

Where does the poet sit?
1. onastool

2. before a group of people

3. before a mirror

4. in a chair beside another customer

Correct Answer :-
® before a mirror

8) Read the poem and answer the question given below:

The gentleman who cuts my hair
Is such a very pleasant man.
He looks so smooth and neat and bright



His hair is black, his coat is white,
All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!"

What sort of person is the gentleman who cuts the poet's hair?
1. grumpy

2. lively

3. friendly

4. pleasant

Correct Answer :-

e pleasant

9) Read the sentence carefully and choose the option that has an error in it:

It cannot be forecasted how society will emerge a generation hence.
1. how society will emerge

2. a generation hence.

3. It cannot be forecasted

4. No error

Correct Answer :-

¢ It cannot be forecasted

10) Which of the following options best combines the following sentences?
The man was arrested. He had stolen the jewellery.

1. When the man was arrested, she was stealing jewellery.

2. The man who had stolen the jewellery was arrested.

3. The man after stealing the jewellery was arrested.

4. The man was arrested but he had stolen the jewellery.

Correct Answer :-

« The man who had stolen the jewellery was arrested.

11) Read the sentence carefully and choose the option that has an error in it:

He found an interesting lithograph as the one he had seen on his trip to Spain.
1. asthe one

2. He found an interesting lithograph

3. to Spain.

4. had seen on his trip

Correct Answer :-



« astheone

12) Fill in the blank with the correct option in the given sentence:

The parents asked the principal to his decision about the Sports Day.
1. reconsider

2. consideration

3. considered

4. considerate

Correct Answer :-

« reconsider

13) Choose the right tag:

~N

He is coming here today,
1. has he?

2.isn't he?

3.is he?

4. doesn't he?

Correct Answer :-

e isn't he?

14) Choose the most appropriate determiner in the given sentence.

Hehas __ of money. He owns two apartments.
1. much
2. some
3. afew

4. alot

Correct Answer :-

e alot

15) Fill in the blank with the most appropriate preposition in the given sentence.
What do you do the day?

1. before

2. after

3. during

4. towards

Correct Answer :-

o during

16) Fillin the blank with the correct option in the given sentence:
Many astronomers gathered in the observat--.

1. --ants

2. --ory

3. —-ions

4. --ence

Correct Answer :-

o --ory



17) Fillin the blank with the correct option in the given sentence:

Fuel --jection means that fuel is forced into the combustion chambers of an engine.
1. re--

2. inter--

3.in--

4. pro--

Correct Answer :-
e in--

18) Choose the appropriate antonym for the highlighted word in the given sentence.

You can do it leisurely because the deadline has been extended.

1. intermittently
2. lackadaisically
3. hastily

4. sporadically

Correct Answer :-
« hastily

19) Choose the appropriate prepositions for the given sentence:

‘Macbeth’ is written Shakespeare; you will find more his plays the library.
1. over, about, at

2. against, on, in

3. for, in, at

4. by, of, in

Correct Answer :-

« by, of, in

20) Choose the appropriate synonym for the highlighted word in the given sentence.

The wise judge tempered justice with mercy where it was deserved.
1. wiped away differences

2. wielded power

3. made less severe

4. proved to be partial

Correct Answer :-

* made less severe

21) Choose the appropriate pronouns for the given sentence.

Ram is the cause of all miseries.
1. yourself, your

2. himself , theirs

3. himself, his

4. herself, our



Correct Answer :-
« himself, his

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Many young men from our village fought corruption.

1. Corruption was fought by many young men from our village.

2. Corruption is being fought by many young men from our village.
3. Many young men from our village fight corruption.

4. Many young men from our village are fighting corruption.

Correct Answer :-
« Corruption was fought by many young men from our village.

23) Choose the appropriate tenses to fill in the blanks in the given sentence:

Aparna very happy at the moment.
1. will not seem

2. doesn't seem

3. didn't seem

4. was not seeming

Correct Answer :-

o doesn’t seem

24) Choose the appropriate conjunction for the given sentence.

You had misbehaved; , you are being punished.
1. but

2. however

3. therefore

4. because

Correct Answer :-

o therefore

25) Choose appropriate articles for the given sentence:

__ housing provided includes __ basic or standard dormitory accommodation offered by __ university.
1. no article required, a, a

2. A, no article required, an

3. The, the, the

4. the, a, no article required

Correct Answer :-

« The, the, the

26) Choose an appropriate modal for the given sentence:

“You've never heard of Sachin Tendulkar! You be serious,” said my friend.
1. mustn’t

2. aren’t



3. hadn’t

4. can’t

Correct Answer :-
e can’t

27) Choose the option that substitutes the given phrase appropriately.

A person who fits and repairs pipes
1. Mechanic

2. Lumber jack

3. Blacksmith

4. Plumber

Correct Answer :-
e Plumber

28) Choose the option that best transforms the sentence into its Indirect form:

My employer said, ‘I hope you will not be offended if I tell you that in my opinion, you will do better in some other kind of job.’
1. My employer said hoping | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

2. My employer was hoping that | would not be offended if he tells me that, in his opinion, | would do better in some other kind of job.

3. My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

4. My employer hoped he would not be offended if i told me that he would do better in some other kind of job.

Correct Answer :-

« My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

29) Choose the option that best explains the highlighted expression:
I can never play jokes on people because I can't keep a straight face.
1. act well

2. can’t say the punch line well

3. look serious

4. remember the joke well

Correct Answer :-

« look serious

30) Change the given statement to indirect speech.
I said, "I must finish the work in time.”

1. I said that I must finish that work in time.

2. Isaid that I finish the work in time.

3. Isaid that I have to finish the work in time.

4. I said that I had to finish the work in time.

Correct Answer :-
« Isaid that I had to finish the work in time.
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